trés fragoes, ordem das operagdes
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Encontro: Data: Pontuagao:

I 1 1

— + —_ X - =

5 3 3

3

—+12+4=

4

I 3 2

—_ X = + - =

5 5 3

S55+5+ 3 _
T4

1

S48+ 6=

4
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L ~
AW 3353\}7 & 595 trés fragoes, ordem das operagdes
Nome: Encontro: Data: Pontuagdo:
2+35_5_37_72 1+1><1—14
5 5 5 5 3 3 45
29 5 3 15 3
5+11—-—-=—=4- —+12+4=— =3-
6 6 4 - -
1 3 1 1 1 3 2 59
x4+ _=_ - x4+ ==
3 4 4 2 5 5 3 5
2 31 1 3 47 3
=—33+3=(——=)=(10= N5+5+-=—=11-
3 ( 3) ( 3) 4 4 -
3 3 3 3 1 1 33 1
— X =t —-===1= —+48 ~6= — = 8-
2 5 5 2 2 4 - -
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